Ecr =o /
Fuoll 55’;7755—/@,&

W/; p !// 5’:@/@,/7/’[);,@/33
//) (I) For the circuit shown in Figure 1, find the currents I, I, Is, and L.
Answers: I} =12A,13=5 A (Answers for I; and 14 on your own)
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{ ) (3) You are given the circuit shown in Figure 3. Find the voltages Vi, V, and V3.
Answers on your own.

PR,

i ' ]
24vV\ _ J - V- 10V
S

Ae—()

12V

57’4/2,/;7 2 ,4/ jp.f:’éj c:'b-J/ le o2 2—4@’/9//5 =<«
i Zop Al AL L2 =2

67’4% yﬁ A, cw, T Lpe= O
— 2y FV, 4 V2=
yz_: pz%"y/ :;2%-"2——




(4) You are given the circuit shown in Figure 4. Find Req and I,. Ans: Req=12.09 Q, 1,=3.309 A~
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